Math 109, Fall 2018
Midterm 2

Name:
Section:

Requirements:

BThis exam should be completed in 45 minutes.

M Books, notes, calculators, computers, discussion and collaboration are not
allowed.

WDo all of your work in this exam booklet.

WSimplify all answers as far as possible.

MSolutions without proper justification will receive no credit.

Problem | Points | Score |
1 15
2 15
3 20
4 20
5 10
6 20
Total 100




Problem 1. (15’) Find the area of the region that is bounded by tlie
polar curve r =sinf and lies in the séctor £ < 6 < %
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Problem 2. (15’) Determine whether the following improper integral
converges or diverges. If it converges, compute it.

! 1

4 - ' = A8

Kouxsz (=~ X~ *\

A1) + B(x-3) =\
= A+B =D
-h-28 =)
“ A= Vo . Bz -V

. i )
_ | dx _ 2{ 1 Ax - 41 S*L—"A
= 5., Xxt3 1-{_ %3 RS i
: : L Bm  Lnlx-1) ’
- P Ve — 1 ®=
= 4 dabedl] o —g B e L,
.4 Q“M-_z\ SN TR o il Lok B w“”)
= 5 T Rl _
TRNE
| A .
' S. K=Yz +3 A E



Problem 3. (20”) Determine whether the following improper integral

converges or diverges, Explain it
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Problem 4. {20°) Determine whether the following sequence {a,,}%,
converges ot diverges. If it converges, compute thie limit.

Iri(n? + 2)

a) an = In{3n)



NSO

A\

= P

E H
5 g, WSy

i~ (._c‘-'\??c 7-F)
O, AW e AR TN :

LRept =y vee 0% M

\orm AALe52) m 2~

Y
{\

2

2
W) g 2 = 2

Cormmron MBS SRR e
| Lalamt1) PRENE Y Alanm WAL ~A

—_— &N med“"-b' A/a’ﬂ

A .
A2 N
\r'\(..f‘l”"z‘)_ - \n (,J\.,Jn ‘3
#\Z'ﬁv@m
valrd<d Bm

smpp S8 WL TG T (B BT

¥

S \a C Nan L:@’%l\\

—




i

=n*
T oy




T

Commraren A~ TZnas

e oleg kLol XNR FCHLeme
VY on o5
- Cormputg T y ase o EAT

Nt |

3 aeenent

o

A 5

—  comfuSiy A fraeente VWO o FERE

Nt

ey




o= o

- - A . ¥ = . ) o 1 .

Problem 5. (107} Determiine vhether the sifes E :m-'s L converies
n‘J
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or diverges, Fxplain it
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Problem 6. (20°) Determine whether the series converges or diverges.
If it converges, compute if.
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